8RR RN FENERSES hgs
TR, TREESHRAE

R MR TA-5E K E

—. HiEE

1L—H 2 /ML) E ) .

A1 B.1 T C.10 T3¢ D. 10 7
2. —HUEHAK 48 ¢ ) .

A Tk B. K C. oK

3UNBHERK AN ) EK

A.3 B. 30 C.300

AP FEBER IR & 100 ¢ ) o

A JEK B. K C. LiLfE

5.~ AFHBEMMIARL 150 ¢ D .

A JEK B. “F- 5 JE K C.FIiomk

6. FHIVLILIERIZ ¢ )

A —SZHEK 18 Ty K B. — AN KEEEMATZ 4.5 Pk

C. UK 10 R E —A 10°80 4, MRORE & 2/ & 100” D. —MUNE 4 T3¢
7.1z — R EFERAH L C )

A 53 Eh B. /N C.®

8RB ARRLAA C ) Rl

A. 3 /NI B. 3 4% C.3 Fhoh

9. — MK AL Z 60 )

A Tt B. =& Jt C. % D.
10. [ 1+ A KL 72& 960 /1 B NI AR ¢

A 5K B. AL (o S o N D. 543K
. HWE

11.—HMmEK 12 K. ( )
125 NIREK 2 K. ( )

BBAEN AR AR L2 3 F K. ( )
14, K 98 JH K. ( )
15.— B RZ 6 HK, ( )




OSmR---ERNFEHERSES

S TH, ATREESNERAR
=, B EAER A

16. B VL I THI A /& 454800

1843 BERKES 1))

17 /N s IR b I R AL
—REEKLT 180 )

18. — IR B A FRL) /2 8 .

19. A& 5 , BUEEmEA 312 , BRE K Y 87 .
20. = B ¥ 7 LR K Z) 800

21— IR AIAR, KRAE 28

22, —KREFHEINK 75

—HPEKL 12

—/NIKMEZ 10

23— 8 s R L ETAR S 72

24 EFRIZ AL 420

HBZETHIARZY) 5

K1

FITHIT K 6 , T4 THI A

25 fERE 2k FIH A AL

PR E 40 IR 1
/NI BARLERL 3 Rk
M. &

26.5H—H

62cm—2cm= cm

62cm—4cm= cm

62cm—6cm= cm.

T, GEE

27 46455 B EAE R BAL AR
(1) —IRESEM IR L6
(2) —RPMmARLAZ60____
(3) HrePmmmg 3

A.r i 'E - .
S s, Ton, B, IR R

% T TH, DEREESHRAE

%3




OSSR ENHEHERSES il
ST, AEREESREAR

(4) Yk A4y 1250

(5) —[E#H=EK 8 , , THFA&Z 56

=
~N

AN VAE]
28 —ZE K 3K, EAURAE T 90 UK, ZEEURUAE T 65 JEUK, IXMRANEHE 7 2 EK?

29. MR HIZRH 25 28 K, b 47 K, XMRHZJFRKZK?

B s, ok ER, ST
% ST, EEESHESR




OEMR--- S N EHERSHEE #
AlTH, BoFEEShESR

B RIBNTER 53
—. kS
1. [ZRIA 2. [%%]1B 3. [ZXRIA 4 [FX]IB 5 [EX]8B
6. [EX1ID 7. [ZHZETA 8 [E%E]1B 9 [&%]18B 10 [EX]C
o F
11. [ZFR] 83 12, [ZFX]) B 13 [ZFXR]) B 14 [FX) Eff 15 [BXR]) B
=. W
16. [ZR) FHTK 17. [BZR]) TK, =k 18 [EZR) v HEXK 19 [ZX]) K FHEXK, EX
20. [Z%E)Y K 21 [ZFRIm? 22 [&R]) HEX, HEX; EX 23 [BX] K, AW
24. [BR]) PR, K, EX, K K, 24 FrK
25. [ZR]) EXK, FEXK;, /P, K

26. [%4%]) 60; 58; 56

27. [&R]Y (LD FHEXK () FHEX (3) Fhiak () Fik (5) K kK Fik
ANAEh

28. [#%
29. [%&

fih: 90+65=155 JHk
fidt: 28+47=75(K)

B W, T, EE RIS
§ ETH, BTREESREAT






